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Answer questions in all. Question

. Attempt question

from each Unit.

1. Answer each of the following questions :

2×10=20

(i) Explain the operation of an inverter.

(ii) What is a parity checker?

(iii) Explain the working of half-adder.

(iv) Describe the working of D-flip-flop.

D-

R.S.

7. (a) Describe the construction and working of
schmidtt trigger with the help of its cir-
cuit.

(b) Explain the operation of a J.K. flip-flop with
the help of its logic circuit and truth table.
J.K.

7½
8. Explain the modules of a counter. What do

you understand by feed back in a Counter?
Explain the operation of Mod-5 parallel counter
with the help of its waveforms.

9. Explain the operation of any of the fol-
lowing :

(a) Mod-7 series counter

(b) Mod-10 series counter

(c) Mod-10 combination counter
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Deæ&-Ùeespekeâ keâer keâeÙe&efJeefOe mecePeeFÙes~
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(v) Draw the Circuit diagram of an RTL NOR gate.

RTL NOR 
(vi) Explain, why an astable multivibrator is

called a free running multivibrator.

(vii) Explain, Why NOR gate is called a Univer-

sal gate.
NOR

(viii) What is speed limitation in series counter?

(ix) Explain the operation of a shift register.

(x) What is Race problem?

7½
2. (a) Explain the operation of TTL NAND gate.

TTL NAND 

(b) What is a shift counter? Explain its op-
eration with the help of its logic circuit.

3. Explain how a shift register is formed? Give
some of its important applications. Describe

the operation of a 6-bit serial shift register for
shifting the binary number 101101.

7½

4. (a) Explain the two De-Morgan theorems.

Give some of their important applications.

(b) Explain the operation of XOR gate. Imple-

ment XOR gate using only

(i) NOR gates

(ii) NAND gates

XOR XOR

(i) NOR

(ii) NAND 

5. (a) What is full-adder? Explain its working with

the help of its truth table.

(b) Describe the working of a parallel binary

adder to add the binary numbers 111001

and 101101.

7½

6. What is the difference between astable

monostable and bistable multivibrators? Ex-

plain the operation of a bistable multivibrator

to show that both the states are stable. De-

scribe the operation of R.S. flip- flop.
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hetCe&-Ùeespekeâ keäÙee neslee nw? Fmekeâe ØeÛeeueve Fmekeâer melÙeceeve
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